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Solve the following expression.
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Simplify the following expression. (1 4 JULY 3RD
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Simplify the followoing expression : (14 JULY 4TH
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simplify the given expression. (14 JULY 4-|-|_|
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Simplify : TEAHT (17 JULY 15T
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simplify the given expression. (1 8 JUL3rd
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Simplify : 60% of 870 - V1444 +
18 x 19 SSC CHSL PRE
(a) 826 (b) 842 (c) 786 (d) 700 2022)
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What is the value of 1440 — 200 = 50 x 2

+37 (SSC CHSL PRE
1440 — 200 + 50 x 2 + 3 FT HIH FAT g7 2022)
(a) 1420 (b) 1440 (c) 1435 (d) 1444 ( \//—u":\\fj
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Find the value of 15 -3 of 12 + 2
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The value of [(24 — 12) + 4] + [81

48+ 12 of 2] is (SSC CHSL PRE
(24-12) + 4] + [81-48 + 12F/7 9
2] T |7 &- ( @9 \>

(a) 67 (b) 73 (c) 35 (d) 82



71911 SSC 2023 AN

What is the value of 224 of 4 = 7

— 250 x 37 (SSC CHSL PRE
224FT4+7-250 x 3FTHART <0
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(a) -524 (b) —486 (c) -588 (d) — )
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What is the value of 44 x 12 — (25 +

13 % 10)? (SSC CHSL PRE
44 x 12 - (25 + 13 x 10) FTam @ 2022)
o ? (/_: \>

(2) 613 (b) 633 (c) 573 (d) 373 N
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What is the value of a/ a T #T9 ITd hifSA

? (SSC CHSL PRE
15+18+3x5-12+4+a=100 2022)
(a) 54 (b) 58 (c) 48 (d) 42 ( \//-nr-?\\fj






